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200m HE | & 39 - 2 [EXRK FRP [F o Ui 1 |10 6
200m g | % 113 - 1 |ZE@EH BETE|38L5 4791 A 2 | 10] 7
200m H£38 | & 64 - 71 |=HlfF TR |3 F 7Y | 2 | 10| 8
200m H£8 | & 56 - 68 |KE Ty |vf Ax/ iig) 2 110 9
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800m HE | &« 93 - 1 |EXSELF HT NAT IDY mEFHE 2 1 1
800m HE | & 15 - 14 |#k T6JFg=E WYy ht3 A&+ 2 1 2
800m HE | % 50 - 3 |[BIE B#F Yty M £ AR A 1 1 3
800m HE | & 6 - 74 |BE BE i et REt % F 1 1 4
800m HE | & 85 45 FZE HEE 53 14Y RS 3 1 5
800m HiE | % 213 - 2 |F{R KRB M I PN 2 | 1 6
800m % 1 - 12 |/ &#F )Y A3 [ 1 1 7
800m HE | X 102 - 19 |KHE E&H H5 9% RE 2 1 8
800m ¥ | & 143 - 23 |fEFy TBFRY 91/ 74 Elds 1 1 9
800m *#E | x 101 - 25 (2@ =H/EFE] [y s 3 il eh 2 1 10
800m HE | &% 85 - 41 |[HE S555B  |4Un7 957 1R R 3 1 11
800m HE | X 3 - 4 |4l =% 4935 hik wRE 3 1 12
800m | & 21 - 1 xR ESE v 1% ETEEE 3| 1] 13
800m #iE | % 23 - 10 |[Ah WmEZE |4 7 R 2 1| 14
800m RE | & 143 - 2 |thB ¥ 175" 7%/ [ 3 1 15
800m £8 | % 201 - 16 | RPq #E= b a7 Rz [ 3 2 1
800m =8 1 - 23 |REE EARF |[LF+Y F5a |mE 3 2 2
800m RE | & 208 - 35 |RBlE #E H + 7yt ANiEH 3 2 3
800m £°8 22 - 13 |/ EBFEH |77 1% R HE 2 2 4
800m *E | & 100 - 17 |HA ZEiHE {Eb 744 PEE XA 1 2 5
800m HE | & 106 - 6 |[luA W= e W7 A 3 2 6
800m #E | % 211 - 63 |f= =B Y3y M REASE= 3 2 7
800m il | & 91 - 8 |KEH @OIF |#¥y 1 I 2 2 8
800m h¥ | & 113 - 29 |dAly ¥fE Th¥v b4 p9=2 1 2 9
800m HE | % 121 - 5 |#3EH EBR ya" 31 = 3 2 10
800m HE | % 234 - 20 | #EF 198" 4% NEREF 3 2 11
800m HE | & 103 - 15 (L E= Y94 F 14 HFER 2 2 12
800m HE | & 28 - 31 ([dh)I] &5k Thh D 13 TS 2 2 13
800m *E | & 58 - 8 |EA B Ah9% a9 e 2 2 14
800m *£@ | & 211 - 7 |EBk E&R FSHAT vt REAE= 2 2 15
800m HE | & 234 - 24 |[S5H HFE ¥4 13" % KEmEF 3 2 16
800m #HiE | & 28 - 2 |BBE - NYES =1 T 1| 3] 1
800m HE | & 90 - 4 (IUAXR EF YvEb 19 )11 1 3 2
800m z 214 - 13 |NiE EE EAVNAN =HE 3 3 3
800m HE |« 91 - 9 |(luE ZE= Y4 vt I 2 3 4
800m HE | & 89 - 1 (JIIF FE h7h F1Y Ehis 2 3 5
800m HE | % 106 - 31 | KA ZFER HHoF h17 FEFA 1 3 6
800m RE | & 208 - 46 | 4 3 4% ARiEH 3 3 7
800m H@E | » 231 - 4 |FEM EBEXK BN ¥y v BERF 1 3 8
800m RE | & 208 - 50 |AE XEF |4 b ARiE 3 3 9
800m HE | & 74 5 | EA &% HHh oy Bkl 1 3 10
800m HE | %« 91 - 10 |gfE MHMHEHZ |14 ptr K 2 3 11
800m HE | % 103 - 14 |hiE [BT +H91 £3Y HFR 2 3 12
800m HE | & 35 - 63 |EH KHE ¥4 3% & 2 3 13
800m HE | & 56 - 64 | K& F 7y % 47 Ly 2 3 14
800m HE | & 234 - 28 |l Hib ot E 7Y% REFEH 2 3 15
800m H@E | & 211 - 1 |4k #A 0" hIy REZE= 2 3 16
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800m #E | & 23 - 1 FIER #bZE  [7A° 439 R 1 4 1
800m *£E | & 40 - 1 (FEE 1E #431°9 19 B 2 4 2
800m HiE | & 108 - 24 |EE [EBMm YRS ETH kS 1 4 3
800m 8 | & 2 - 1 |g@E —1t A8 4Fh 18 E 1 4 4
800m HiE | & 30 - 2 |K& =8 L5 73 R 2 4 5
800m HiE | & 225 - 9 |BAHN EFF 193 2h3 Bty 2 4 6
800m #iE | & 63 - 24 [INBR EfE vy 3t # 4 7] 3| 4| 7
800m #E | & 15 - 12 |mE E&F Y3F D & 2 | 4| 8
800m HiE | & 103 - 16 |3BEH == ¥4 714 HFH 2 4 9
800m £58 | % 19 - 4 |KpE +t7 A4F +1h KR 1 4 10
800m RE | & 13 - 27 |5k @1t MTh TEh P =" 1 4 11
800m *£E | & 9 - 3 |E@E HH P34 AR )1 1 4 | 12
800m HE | & 35 - 55 |ZH IEHxE 45" Hut AES 3 4 | 13
800m 4 62 - 17 |t&pE EIX&F |37V 47 FEBZTF 2 4 14
800m *£E | x 220 - 30 |@EL {ERE 4hvv /)Y Sl 1 4 | 15
800m HE | & 44 - 11 [SIK B 4% 7YY a &b 2 4 | 16
800m #E | & 237 - 10 |FH BF 918" #M FAIFSH B 2 5 1
800m HE | & 23 - 19 (BRI EF wMh7 13 SR 3 5 2
800m % 214 - 17 | KIF ik THyh M HE 3 5 3
800m HiB | & 71 - 18 |BpAt 3% /L5 714 REBHHEh 1| 5| 4
800m | & 208 - 16 | BE +hov 1f PN 2 5 5
800m 1% | % 225 - 71 [BE k= 93/ 3t & 1| 5] s
800m HE | & 48 - 6 |MEF HE 447 13 BACHE 3 5 7
800m HE | & 15 - 7 | KR BEW Hng ¥ kv 2 5 8
800m HiE | & 153 - 22 |AIR [BE i s e 2 5 9
800m HiE | & 201 - 19 |HeE BT Ath 74/ Rz | 2 5 | 10
800m £8 | & 101 - 27 |BBES ®WARF |ZV4z T3 LA 2 5 11
800m 1% | & 48 - 2 |X¥% BHmEF |74/ th SEALHE 1 5 | 12
800m HE | % 41 - 7 |F|N K 73h7 14 TS 2 5 13
800m HiE | & 71 - 19 |gE@H EF EDZ AR Y/ B E 1 5 | 14
800m HE | & 20 - 4 |B§ #n=E + 7t HHET 1 5 | 15
800m % 1 - 35 |FEH K ES/ a4 |mEi 2 | 5| 16
800m H#iE | & 187 - 29 |{£@E  BKE by TEH B#h 3 | 6 [ 1
800m HiE | & 33 - 10 [(HE =F A4/ 9L FR|EEF 1 6 2
800m % 3 - 9 KR #EF 32N #9373 EATR 1 6 3
800m #E | & 98 - 46 [A[[R EEA N7 T N 1 6 4
800m HiE | & 30 - 17 |hnpE = fiky ar N7 2 6 5
800m HE | % 91 - 27 |fRME BATE 149" 72h ) 1 6 6
800m £8 | % 234 - 14 | = MWy 1t NERF 2 6 7
800m E°S 75 - 2 |=E &= Ahny 197 R R 1 6 8
800m H*E | & 91 - 29 |$5K [EH AR % NbE )| 1 6 9
800m $HE | & 118 - 37 |FRE HELy  |Zvin 744 R 1 6 | 10
800m HE | % 95 - 40 [HXK g THE 22 % FE SRR 2 6 11
800m HE | &© 205 - 9 |mO w9 YAV REE_—+H 1 6 12
800m HiE | & 220 - 3R |E5H =EZ Ahh bk S3s] 1 6 | 13
800m HE | & 234 - 6 |APH B L34 4On NEREF 1 6 14
800m % 77 - 16 |FHE EARE |IVEH 113 Hepe 2 6 | 15
800m B | & 41 - 3 [EE hE 94 3an T 1 6 | 16
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800m CEN 113 4 [l BR [Eir a9t Kz 2 | 7] 1
800m HE | % 91 23 |BE+INI FIEMYL T Fh HE 17| 2
800m Z 34 45 |chE H +ht nt BRATR 2 713
800m #8 | % 16 51 |KBF FE (7 /)3 A& 2T 2 | 7| 4
800m #HE | & 201 5 |BA FHZE [DFEh 45 PN LR 1715
800m HE | & 211 49 |REE FIE [7UMN Y 7h ERAE= 1716
800m HE | & 115 41 |H3B O MHEE (AT AN |KEES 1 707
800m HE | & 205 5 MERAK HEK|[HE 14 REE 2 71 8
800m #E | % 103 29 |#tE KD (W35 4% RFA 17|09
800m H£E | % 234 27 | R+ BM  |¥L7 TED REEH 2 7110
800m HE | % 211 48 [J\AK g |[v% a7 REL= 1| 7|11
800m z 75 51 |[IUAE A8 |17+ v+ N 2 7| 12
800m HE | & 95 44 B HeFE O|THUY A F |EEE 1| 7|13
800m H£EB | & 13 14 IR BEZE  |(UFs 41 —% 1 7| 14
800m #E | % 187 23 | KB ZF |HHvx N B #7 1| 7|15
800m H£E8 | % 35 74 |BF EBE (4L 19t NE 1 7| 16
800m HE | & 211 47 [IUA FEBE [YF O RESE= 1 8 1
800m HE | & 187 9 |HH M= |4th M7 H#r 2 8 | 2
800m HE | & 19 16 (% KB My 43 K& 2 | 8| 3
800m hE | & 208 36 |FTE  #F2  |LIF H7v ANiggH 2 8 | 4
800m HE | & 41 5 | &z |Zv4z 19t TS 1 8 | 5
800m HE | & 303 1 @ =K Th 433 REKWE 1 8 | 6
800m HE | % 303 31 |AE F& (YW h Fto  |REXHE 2 | 8| 7
800m H#E | % 201 1 /MR FEHE [y dR73 PNl Rl 1 8 | 8
800m #E | & 58 10 |giTHE fi2E 318 1y ZA1 2 | 8] 9
800m #E | & 95 72 |40 MR N %1 78 5 1| 8] 10
800m #£8 | % 103 24 |HE w39 |41h 17 BHFR 1 8 | 11
800m H£8 | % 15 43 (¥8EH ZFHE  |9r8 M by 3 | 8|12
800m £°8 99 47 |HFE HF(T U 1va MR 3| 8|13
800m #HE | & 2 3 |@Il EBA |27 1% 18 £ 1| 8] 14
800m #8 | % 84 14 | KR F£F |47 Y% KiE 1 8 | 15
800m HE | & 71 21 | FE2F (M4 K9 REBAEH 3191
800m #8 | % 95 69 |HE EZX  |9Fh 19t PE AR 1 9 | 2
800m B | % 71 [FA %5 (N3 A2 4 |[F#ExESR 2 19| 3
800m #E | % 71 ZH 123 |(Ya¥ bt RABHE R 2 | 9| 4
800m HE | % 10 JXxEH EF |[h 4 13 = 1 9 | 5
800m E=8 62 3% BB WE (1)) 7v% REBLF 1] 91| 6
800m HE | % 56 93 [MAE ETE W T Ly 1 9 | 7
800m HE | % 71 16 & XF 3th ¥3 RS 1] 9] 8
800m @ | & 56 91 (EAR #HBE |§)E 2 A= 119109
800m E=q 62 23 |FHF B=E ) fk REBLF 11910
800m HE | & 71 15 [BBA ZEM [WVEP I REBAEH 1] 9|11
800m HE | & 71 11 |kE= B [913% 7Yy REBNHE 1 9 | 12
800m HE | & 90 5 E{E |V bt w1 1] 9] 13
800m HE | & 71 22 |EEEY EZ |tm/ yh FEBEA 3 9 | 14
800m HE | & 71 23 |$0;T B |tV 11 R ET 3 9 | 15
800m HE | % 71 24 |ZRERF BIE 1YY TAN REBNEE 3 9 | 16
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1500m 1F | & 91 - 3 |[pngE /& Abg I )| 1 1 1
1500m 1#£ | & 216 - 29 |BA¥f Z=nk YWINEE) KiEH 1 1 2
1500m 1# | % 113 - 30 |Fa%t FEF ZYh7 N3 P/ 9= 1 1 3
1500m 1% | % 222 - 38 [IZKA 1BTE Ny b4 PND 1 1| 4
1500m 1 | % 12 - 7 |8l B’ TAn D hvE Eah 1 1 5
1500m 1 | & 143 - 20 |Fa WAHE |5y &8 iz R 1 1 6
1500m 1£ | & 234 - 5 |l A= AR XY 9%39 NEREF 1 1 7
1500m 1£ | & 63 - 11 [BK &F A% TV 1 4 fiF] 1 1 8
1500m 1 | % 105 - 16 |f8B US 7993 V% Fh 1 1 9
1500m £ | & 71 - 13 |E5RE  #FB #4919k SR EH 1 1 10
1500m 1 | % 204 - 16 |K# #&H L5 #% BILE= 1 1 11
1500m 1 | % 71 - 17 | H EE 4 3 REBHEE 1 1 12
1500m 1 | % 85 - 81 |Fm W& Fth ALy R 1 1 13
1500m £ | % 71 - 14 |:FH DB N4 3y REEH 1 1 | 14
1500m £ | % 216 - 14 (&0 B 429 F Wt pNEL 1 1| 15
1500m 14 | % 187 - 35 |+ HEBE Y3’ n b B#eh 1 1 | 16
1500m 15 | % 143 - 25 [ KT £ HI Ik 1 1| 17
1500m 1 | % 105 - 11 |EFH #F 9IZY T¥a Fa 1 1 18
1500m 1 | % 95 - 74 |FEAR IEER 7Y Eh B 785U 1 1 19
1500m 1£ | % 187 - 11 |K#B K Ny M H#r 1 1 20
1500m £ | % 204 - 17 |ERA fE3L 1Y% 1)y Hilza= 1 1| 21
1500m 1% | & 102 - 4 ([lU=E BB L0 b4t R 1 1| 22
1500m 1£ | % 205 - 7 |&F FiARZE |hta Wt REEZ=H 1 2 1
1500m 15 | & 143 - 24 |#ZH TE YA vt s 1 2 2
1500m 1% | % 112 - 28 |&FA M%A RN 1Y% MR 1 2 3
1500m 1£ | & 205 - 11 |lUN #E3E Y¥9F 19t REAE 1 2 4
1500m 1#F | %« 10 - 1 |80 & ESF 9% = 1 2 5
1500m £ | & 0 - 9 |F= BH |15 hs Ex 1 2 6
1500m 1 | & 12 - 8 |= EJDRa ¥ Y3l FEAP 1 2 7
1500m 1 | %« 40 - 3 [MH 2ZE W 3t B 1 2 8
1500m 1 | & 41 - 6 |=lF BRiN R L 1 2 9
1500m 1# | & 5 - 9 IRT 1% 994 13 A= 1 2 10
1500m 1£ | % 62 - 26 (¥R BTt INg  ant FEZTF 1 2 11
1500m 1£ | & 62 - 30 |Afh HEF h3F 3 R F 1 2 12
1500m 1 | % 62 - 32 |IBEE AHA MY I3 RELF 1 2 13
1500m 1#£ | % 62 - 34 Bk M FFES YT 1Y R LT 1 2 14
1500m 1£ | & 62 - 19 |#%k BE My a9t RE T 1 2 15
1500m 1 | % 74 6 |ARF FEFE L5 hut Bl 1 2 16
1500m 1£ | & 74 7 AR BETE |9 33 Bl 1 2 17
1500m 1# | % 113 - 26 |HYE HZEZ |44 vt P92 1 2 18
1500m 1# | & 143 - 17 | KB $&2Ty [H49F 1) Elds 1 2 19
1500m 1 | %« 215 - 1 |$vH TEH T34 #ik ARG 1 2 | 20
1500m # | & 216 - 28 |[lUEFR = YY) LA PNEL 1 2 | 21
1500m 1 | %« 216 - 10 |f8H = 799 M PNELS 1 2 | 22
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1500m 2 | & 204 8 B = hy Az 7)Y BlLE= 2 1 1
1500m 266 | & 24 19 | &% AIE [{hT 713 A 2 1 2
1500m 2 | & 13 1 |\EAR £ ZYE 4 =2 2 1 3
1500m 26 | & 167 33 |$4@H 2] 7594 bE IR 2 1 4
1500m 2% | & 71 9 Ik XE Iby 71% FEB N E 2 1 5
1500m 2 | & 121 12 (JIE FF 178y FM 2 2 1 6
1500m 2F | & 214 40 |12 RS VRIS 51E 2 1 7
1500m 2 | & 105 4 |5 £ 19y 1hY FRH 2 1 8
1500m 266 | & 85 70 |l EFEE Y394 N3 R 2 1 9
1500m 266 | & 204 5 (M H EA e /) BliE= 2 1 10
1500m 2 | & 205 3 |58 FIK 1329 M EMAE =k 2 1 11
1500m 2 | & 95 41 | KT Ly /94 14 fishns 2 1 12
1500m 2 | & 211 3 | X5 oI SEEBE= 2 | 1| 13
1500m 2 | % 216 8 |HE@E BE nI8 Y93 K 2 1| 14
1500m 28 | & 58 7 L/ = 1 h 744 Tl 2 1 15
1500m 266 | & 30 18 |78 WE -y Ity P53 2 1 16
1500m 2 | & 187 1 (FEiE  #0ER 10 % #% B 2 1 17
1500m 28 | & 113 7 |HFg =F 1F 74Y P =" 2 1 18
1500m 28 | & 85 66 |gEHl HH (VT F AR R 2 1 19
1500m 2F | %« 208 29 |dhFt E wISERER] PN 2 2 1
1500m 2% | & 103 11 | KlE =4 Hyv M HFA 2 2 2
1500m 28 | & 208 41 |ZB8H F A YA AiE 2 2 3
1500m 2 | & 103 12 | kO =8\ Ty 39 e 2 2 4
1500m 2 | % 204 15 854t @3 /L3 Nt BlE= 2 2 5
1500m 2 | % 167 40 |AF &R, 4h7 &k ST 2 2 6
1500m 2% | & 105 2 |l 234 1759 799 FIAH 2 2 7
1500m 2% | & 187 7 (it B YYEh £V B ¥ 2 2 8
1500m 26 | & 216 11 B8 #5«K DAtA" 14 KIEF 2 2 9
1500m 2 | & 226 BEAR I NE 11 CES 2 2 | 10
1500m 2% | & 211 Ek FiR FHE UF REAE= 2 2 11
1500m 2% | & 204 EH %£B V8 7Y BLE= 2 2 12
1500m 2% | & 121 14 |FRIE Imit WM =1 2 2 13
1500m S 216 5 &S BN v a/n pNELY 2 2 14
1500m 2F | & 91 5 |Fg Ty M ¥ 5/ I 2 2 | 15
1500m 2% | & 204 10 |i2H #R TH#{ 13 BLE= 2 2 16
1500m 2 | & 108 11 |—5F #3P 178 49 ks 2 2 | 17
1500m 2 | & 85 65 |FEFT ISEIES 18 2 2 18
1500m 2F | & 56 63 |FE#E st kot 3Y5 A= 2 2 19
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1500m 2% | & 16 - 58 |BEA W=EO |y 1%/ A&t % F 2 3 1
1500m 2% | & 234 - 29 |ZH #BX 45" 14t ARERG 2 3 2
1500m 2% | & 91 - KHE M= T*5 1Fh e 2 3 3
1500m 2F | % 113 - Tk fEH Ahh° 3 43 N2 2 3 4
1500m 2 | % 87 - 42 |FHME thAM )4 1p b= 2 3 5
1500m 2 | & 70 - 21 (BB B e 19F B B 2 3 6
1500m 2% | & 100 - 11 €A KB s #43 EE XA 2 3 7
1500m 2% | & 89 - 2 [lUE BEF 3" h42 s 2 3 8
1500m 2% | & 16 - 55 |Gk BS% by hk A& 2T 2 3 9
1500m 2% | & 74 2 | &M EN 7N ¥y 39 L 2 | 3 |10
1500m 26 | & 74 16 |28 EH& hn) 3% By 2 3 | 11
1500m 2% | & 208 - 19 |ED % UL G TN 21 PN 2 3 12
1500m 2 | % 215 - 13 |[@Ft FEHE Thh3 h/v A 2 | 3| 13
1500m 2% | & 204 - 12 |lUE BEF 5 4% BLE= 2 3 14
1500m 2F | & 84 - 5 [ FHk 1rEbh 135 KiE 2 3 15
1500m 26 | & 62 - 15 (#A)I] B wYh7 1T A F 2 3 16
1500m 2% | & 215 - 12 |&0 TEFE 425" F nt FEHERS R 2 3 17
1500m 2% | & 187 - 8 |TFE:EHD YEL/)T 17 H ¥ 2 3 18
1500m 2% | & 143 - 58 |KF #n=E /95 Iht FafE R 2 3 19
1500m 2% | & 303 2 |FEEp X% 197 Yk REAHE 2 3 | 20
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1500m 3F | % 216 18 [iZE EZ YHZ DA% RfEH 3 1 1
1500m 3 | % 102 14 |BR =R /L3 t% = 3 1] 2
1500m 3% | X 23 20 AR IHE thEh 233 R 3 1] 3
1500m 3 | & 71 25 (AR EBHERE |1H7 1%k RERES 3 1 4
1500m 3F | & 23 6 |8R %Ll {373 494 FEBED 3 1 5
1500m 3 | % 23 4 |FIWRAX—FHA ¥ haF-n-1- AR 3 1 6
1500m 3 | & 71 20 | KT ¥i& )94 #1 REBHEEF 3 1 7
1500m 3 | & 215 23 |Eg&t I=im 43 *39h FEYERS 3 1 8
1500m 3 | & 85 43 | KH ZEF it 39 125 R 3 1 9
1500m 3FE | & 217 14 | Kk =7 s y) ES1 ) 3 1 10
1500m 3F | & 202 11 |y Fitx Fh5Z Uty Bl b=l 3 1 11
1500m 3E | & 215 21 |15 =EE 193F Mt EA YR R 3 1 12
1500m 3FE | & 39 6 |FHE & L35 Yht fi) Iy 3 1 13
1500m 3F | % 22 1 (/g B AN T PR b B 3 1 14
1500m 3F | & 234 21 |RB3L #ERZ= (75 F v+ REFH 3 1 15
1500m z 306 1 s T=RE |hYHZ TEEH 3 1 16
1500m 3F | & 202 5 |3l e 947 #1 LR F 3 1 17
1500m 3% | & 187 32 |EE EE 7Y 935 1t B3 3 2 1
1500m 3FE | & 22 5 | KB =EZ 4439 3% 78 5 it 3 2 2
1500m 3FE | & 23 18 (bt EF Thh3 74h AR 3 2 3
1500m 3FE | & 143 4 |\FREF bz =) 7Y% FafE 3 2 4
1500m 3FE | & 143 29 By PRE h7/ tt4 FafE R 3 2 5
1500m 3% | & 12 5 (Bt MY |FhAT THY FEFR 3 2 6
1500m 3 | % 202 9 [ENI DERE  |3¥H 7 #3 S 3 2 7
1500m 3 | & 100 EER BEARIE (74N )R PEE R 3 2 8
1500m 3F | & 85 48 |FHH F by AV § Y 3 2 9
1500m 3F | % 234 25 |ZH & 45 TYT NEREF 3 2 10
1500m 3% | & 215 25 |pEHE FikE 74 )% FE YRS P 3 2 11
1500m 3 | % 102 11 |BK ENRE (|79% f/h R 3 2 | 12
1500m 3 | & 167 39 |lUA EH 9% 3k IR 3 2 13
1500m 3 | & 201 17 |FHFHE FER )4+t Rz [ 3 2 14
1500m 3E | & 37 5 5% &Y {345E7TY BRI 3 2 15
1500m 3F | & 23 17 |FRiE BF by =W )| FEBLED 3 2 16
1500m 3 | % 237 11 |=F IB¥F 93 13 mEBHES 3 2 | 17
1500m 3 | % 187 28 |fRFT TEZR L7 ALY R 3 2 | 18
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100mMH(76.2cm_8.0m) £ 225 4 | B FEKXR ¥ M St 2 1 1
100mMH(76.2cm_8.0m) £8 37 61 |FEE /NE 1IN 311y & 2 1 2
100mMH(76.2cm_8.0m) £°8 204 2 @A ME The an BLWE= 3 1 3
100mMH(76.2cm_8.0m) % 211 65 [#ilR KAt N MER EMS= 3 1 4
100mMH(76.2cm_8.0m) z 2567 oH B3 WA+t RETFC 3 1 5
100mMH(76.2cm_8.0m) £8 115 20 (/N5 EBR 129 AFh 1 HE 1 1 6
100mMH(76.2cm_8.0m) =8 113 2 g Fhk 1517° %% biv= 2 1 7
100mMH(76.2cm_8.0m) z 187 6 |EH Df 834 ¥ B 2 1 8
100mMH(76.2cm_8.0m) 8 93 2 |/ngE EEHN hby 134 m875E 2 1 9
100mMH(76.2cm_8.0m) = 8 7 |hEF E th) A3 IItEET 3 2 2
100mMH(76.2cm_8.0m) 7 8778 EE DERE |78 FR Y¥F |m=#BrhrTI—| 3 2 3
100mMH(76.2cm_8.0m) % 88 49 (IR ESE N vy 31y K& 2 2 4
100mMH (76.2cm_8.0m) Z 222 4 |EH ER kot v KA 2 | 2| 5
100mMH(76.2cm_8.0m) % 50 1 | B8] IR |vh D 4373 REBCH 2 2 6
100mMH(76.2cm_8.0m) %z 101 26 [EFEHh ET0 VEAED) ! LA 2 2 7
100mMH(76.2cm_8.0m) % 15 6 |fEH HmIE 7Y 4 BYY 2 A&+ 2 2 8
100mMH(76.2cm_8.0m) E°8 231 21 ¥ B3R W95 79 KEER$ 2 2 9
100mMH (76.2cm_8.0m) Z 108 23 |thft EBEALIE  |ThhT #4h 5 1| 3| 2
100mMH(76.2cm_8.0m) % 56 70 |FKE OIFOHN |95 D LR 2 3 3
100mMH(76.2cm_8.0m) £ 226 5 (BB 4 7Y %Y h1F BILE 2 3 4
100mMH(76.2cm_8.0m) =4 50 10 |RIE MEfE 13YY 147 AR 3 3 5
100mMH(76.2cm_8.0m) =8 160 13 |HE E 4/91 AR KL 2 3 6
100mMH(76.2cm_8.0m) =8 113 24 |EA  #E 4hEh NY KRE 1 3 7
100mMH(76.2cm_8.0m) % 187 2 | E@A Y& 914" I} H#r 2 3 8
100mMH(76.2cm_8.0m) £y 203 16 |HH % 1958 7hY BliE= 2 3 9
100mMH(76.2cm_8.0m) 4 95 78 |FHH —3F IVth t4t AR 1 4 2
100mMH (76.2cm_8.0m) % 64 75 | EmI K AT M I 2 4 3
100mMH(76.2cm_8.0m) %z 118 3 |KR¥ BHF 45 19% B 2 4 4
100mMH(76.2cm_8.0m) z 106 5 |#aAT Pt ZYh7 Iht BmFa 3 4 5
100mMH(76.2cm_8.0m) E=8 40 5 (luA #mAB YYEb 137 % BFh 3 4 6
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